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The General Quadratic Formula
Try solving these:

1. x2 ­ 4x ­ 5 = 0

2. x2 ­ 4x ­ 7 = 0
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The Quadratic Formula

If ax2 + bx + c = 0, and a ≠ 0
(note: must be in standard form)

then

The '±' symbol means there are two solutions.

x = 
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Try again:  x2 ­ 4x ­ 7 = 0

x = 
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The quadratic formula can be used to solve any
quadratic equation that has a solution.  Thus we
could also use it on our first example, but it will
be much slower!

x2 ­ 4x ­ 5 = 0 A perfect square 
under the root 
tells us that 
regular factoring 
would have 
worked.
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Try:  x2 ­ 4x + 5 = 0
A negative sign 
under the root 
cannot be 
evaluated, so 
there are no 
solutions to this 
equation.

x = 
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­5x2 + 15x = 11 x = 1.28 or x = 1.72
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